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Directions: Solve each problem. Show ALL work. Write your answer in simplest form on the line.
[image: Macintosh HD:Users:admin:Desktop:Screen Shot 2017-01-04 at 9.49.52 AM.png]


















=_____________________	        =_____________________                     =_____________________
[image: Macintosh HD:Users:admin:Desktop:Screen Shot 2017-01-04 at 9.50.01 AM.png]











[bookmark: _GoBack]=_____________________	        =_____________________                     =____________________
image5.png
)

|




image6.png
~ N

w|o




image1.png
WRITE AN IMPROPER FRACTION FOR EACH MIXED NUMBER.

MULTIPLY 6 X 5 = 30. ADD 30 +3=33.

MIXED NUMBER =30 30 \"" IMPROPER FRACTION

1 =33 —» 33
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WRITE A MIXED NUMBER FOR EACH IMPROPER FRACTION.
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2 % + 4 % 'YOU ARE ADDING MIXED NUMBERS WHICH MEANS YOU HAVE WHOLE NUMBERS AND FRACTIONS.
14 2 _| T | FIRST, ADD THE FRACTIONS. THEY DO NOT HAVE COMMON DENOMINATORS SO YOU WILL
4 6 - 1 2 NEED TO FIND THE LEAST COMMON DENOMINATOR (LCD) OR LEAST COMMON MULTIPLE (LCM).
HOW DID WE GET THAT ANSWER? FIND THE LEAST COMMON MULTIPLE 1 3 3
1x4=4 1x6=6 7 X 3T 55
1_ + i 2x4=8 2x6=12* . 4 3 12 see vow HEY Now HAVE
3x4=12* 3x6=18 'COMMON DENOMINATORS?
4 6 4x4=16 2 2 _ 4
X212
** THEY HAVE 12 IN COMMON **
'WE NEED TO CHANGE THE DENOMINATORS (BOTTOM
3 4 7 NUMBERS) TO 12, BUT REMEMBER, WHATEVER WE
NOW WECANADD.  ~— =

ANSWER “~ DO TOTHE BOTTOM WE NEED TO DO TO THE TOPHI!

127 12 7|12

2+ 4 = | 6 | SECOND,QUICKLY ADD THE WHOLE NUMBERS.

7 _ T LAST, PUT THE TWO ANSWERS TOGETHER.
12 = 42 MAKESUREITISIN SIMPLEST FORM
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